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W e : All expenses in 2 categories
| | 1. Transport of Passengers | a. Fixed Exp. / Standing Charges ;-
2. Transport of Goods - eqg. Salary to driver, Insurance, Road
Various Cost per unit shall be calculated as follows:- Tax etc

SERVICE PROVIDER COST PER UNIT FORMULA | b, Running Charges / Variable
Ola Cab / Taxi Cost per Km. Total Cost of operating | =TS Purely dependent on running
Total Kms.run of vehicle like petrol exp. diesel,
School Bus, Chartered Bus, | Cost per passenger Total Cost of operating Repairs.
| | Railways, Airlines Total Passengers
| | Metro, DTC Bus Cost per passenger Total Cost of operating | [N R Mo o e A
| per km Total Passengers-Kms || is in years/ Variable if life is in
Goods Transport Service Cost per tonne Total Cost of operating kilometres/Fixed if nothing specified.
providers Per km Total Tonne-Kms

| | Total Passenger - Kms = Total No. of Passengers x Total Kms Note 2:- Repairs & Maintenance: Fixed
if in form of AMC/ Otherwise variable

Total Collection for
Tonne km are of 2 types:-

transport industry is o .- | L. Absolute Tonne Km = Weight in
called as total takings. PN tonne x km run
: 2. Commercial Tonne ~ Km = Total Km x
Avg. Tonne Km
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* Hospital c:har_gmg unit is “Re.h’f per KI-__-‘O.an to persons for buying a house,

S{="VAKel=l bed perday” SERVICE  buying a car, buying Switzerland
Costing ‘20ani" Rent per patient per day = | Costing for _ ticket etc.
: - Total operating cost+Desired profit : - Wi ey TR P

Hospital &8 Financial Processing Cost per home loan

. Toml No. of pa‘rlem days Tnetitits SR

_ nstitutions application =
Days x OCC”P“"CY Rate | Total number of loan applications in a year /|

L E + BEP Points ( No. of Um#s) ik
Break Even p.u)= TFC 7 Contribiit i

Szﬁgiﬁzonf In case of hospiml (unrl- mgan : Pﬂ
- No. of units = No. of patient Day

patient | g i st e ahes
Days) - V. cost per unit = V cost per patien

SERVICE COSTING FOR
CANTEEN COSTING

SERVICE Sl .
Costing for
Lodge
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SERVICE COSTING FOR TOLL ROADS SERVICE Costing For Software

Construction of Highway - 10 Year right to recover Toll from | Developing Companies
vehicles passing through 3 types of expenditure :- |
- Capital cost = Huge amount incurred in beginning in construction
of Road |
- Operating Cost = salary of persons involved in collecting tolls Cost of project = Cost per project =
- Maintenance Cost = Cost incurred in maintain repairs every _ Specific Cost involved for project +
year. ~ Overhead cost absorbed (Normally on the
Price per vehicle = Toll Rate per vehicle = | basis of salaries).
Formula 1:- Cost per vehicle + profit per vehicle |
Cost per vehicle =

Total of capital cost+operating cost+maintenance cost

Total number of vehicles estimated to be passing through this highway SERVICE Costing For POWER HOUSE
: 2=V B LOSTING FOR BLAVE RO
Total Cost+Total Profit

Total Number of chargeable Vehicles Generate electricity & calculate cost per

Cost per Km - Constructed = unit of electricity generated Cost per unit
Total of capital cost+operating cost+maintenance cost . of electricity generated =

Total Length of Road (Total Km) Total Cost
Total chargeable Units Generated

Cost is calculated on project-by-project
basis.

Formula 2:-
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AMT (RS) | TOTAL UNITS & - SPECIAL FORMULAS
ol B B 1 No. of units produced = Sales (units) +
. Closing Stock (units) - Opening Stock (units

. 2. No. of units Sold = Opening Stock (units)
+ produced (units) - closing Stock (units)
3. While preparing the cost sheef,
following amounts are ignored

i. Items of financial nature e.g. income fax,
cash discount, interest on loan/capital,
dividend, goodwill written of f

ii. Abnormal expenses
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Meaning of Change in Labour efficiency &
Its impact
Case 1:- When Labour Efficiency reduced

New DLC per unit
Old DLC per unit
100%-Reduction in Effciency
Case 2:- When Labour Efficiency

Increased

g Old DLC per unit
i e
New DLC per unit 100+reduction in efficiency

Case 1:- (it will increase by Rs. 4,000 per annum for increase of every 5% of the capacity uhlrsahon or any pam‘
thereof)Solution:-

Capacr’ry Level : ' Annual S_anni:\_/ar-'iabféHOH

60000+4000=64000
60000+4000x3=72000
60000+4000x3=72000
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3 b W e HR T P oy TS iy A e
o= G Wi || MCIMEASE DY KBS, L 00

CAPACIW LEVEL 0 s 7 'AN'NUAL SEMI-VARIABLE OH
: _ : At .

60000+4000=64000
60000+4000x3= 72000
60000+4000x2+4000x 1%/5%= 68800

|_ Example 2

Parhcular‘s '_ _. Total Cost  Vari Fixed Cost

150000 ' 37500 | 150000 x 75% = 11
| 150000 ol ;_ _ | 150000 |
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3. Material Costing

ECONOMIC ORDER QUANTITY (EOQ)

How Much to order in single order so that Carrying &
Ordering cost are minimized Assuming Total Annual
Purchase Cost remain Same.

1. Ordering cost (Cost of placing an order),

2. Carrying cost (cost of keeping material safe and usable |
till use in production) and

3. Purchase cost (Quantity purchased x price per unit)
Carrying Cost (%) = Insurance cost (%)+interest
cost(’%)+storage

space cost(%)+ obsolescence cost rate (%)

- Carrying cost per unit per annum normally remain same.
- Carrying cost shall change if it is given as a % of

material price and material price keeps on Changing.

[2a0 s =i
Formula Q ~- -~ Derivation Covered in class

Annual Ordering cost = Total number of orders in a year X
Ordering cost per order

_ Annual requirement of raw material (A)
" Quantity ordered each time (Q)

23 _AxO

order (O) = a

Annual carrying cost = Average Inventory X Average
carrying cost per unit

_ Quantity ordered each time (Q
R 2

X ordering cost per

! X Avg. carrying cost per unit
{ xC
©==

FREQUENCY OF ORDER
FOOQ is the time gap between placing two

consecutive orders e.g.
FOO-= Total number of days in a year
" Total number of orders
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o When to Order

o Tt is that level of stock of raw material at which a fresh
order for raw material should be placed otherwise the
firm may face stock-out situation. This level lies between
maximum and minimum level.

A Car tank petrol normal full capacity is 25 litre. Reserve

level is b litre.

Formula 1 :- Maximum Usage X Max lead time

Formula 2 :- Minimum Stock + Avg. Usage X Avg. Lead Time

Formula 3 :- Safety Stock + Avg. Usage X Avg. Lead Time

Tt is that level of stock below which stock in hand of raw
material should not be allowed to fall.

Formula

F1 - Re-order Level - Avg. Usage X Avg. Lead Time OR

F2 - Max. Lead Time X Max. Usage - Avg. Lead Time X Avg
Usage

F3 - Safety Stock

| \ AKASH AGARWAL CLASSES
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MAXIMUM LEVEL:

It is that level of stock above which stock in
hand of raw material should not be allowed to
exceed. Like 25 litre in car petrol.

F1 - Re-order Level + Re-order quantity -
Minimum Usage X Minimum Lead Time.

AVERAGE STOCK LEVEL
Formula 1:-
Avg. stock held by an organization

Formula 2 :-

OR  DANGER LEVEL:- Tt is the level at which raw material kept for em':.er.gency S
is used for production of FG (Normal issues of raw material is not possible).
Danger Level = Avg. Usage X Max. Lead Time for emergency purchase




| MATERIAL TURNOVER RATIO / INVENTORY
___TURNOVER RATIO FOR RAW MATERIAL
MTR :- It is a ratio between raw material
consumed during a year and average
stock of raw material maintained during the
year. | &
Raw material consumed during a year

MTR Formula = Avg.stock of raw mafers::'al ;
Avg. stock of raw material = .

Opening Stock + Closing stock

2
365 Days or 12 months
Material Turnover Ratio
It tell number of days material is kept (holded)

in godown before further use.

- Low MTR means High RM holding period which
means high carrying cost hence unfavourable.
(RM called slow moving)

- High MTR means low RM holding period which
means less carrying cost hence favourable.

(RM Called fast moving)

Turnover period =

Valuation of raw material while calculating per unit cost of raw
material purchased, some items are considered as follows:-

Trade Discount * Deduct from purchase price

Quqn-hfy Discount if DedUCf fl"om pur'ChGSe pr‘ice

. Do not deduct

deduct from purchase price since it
. isapenalty

~ + Add o purchase cost

-+ Add (non returnable) Ignore (if
. returnable)

" | Good units shall absorb cost of normal
loss of material




How to Calculate cost of material consumed and cost of closing
stock of material if material purchase prices keeps on changing

FIFO (First in [uuiabn
First Out)

LIFO (Last in
First Out)

Weighted
Average
method
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ABC ANALYSIS INPUT-OUTPUTRATIO
steps Practical steps to classify material in category It explains the relationship be‘f‘m_;eeﬂ Input
A BandC consumption and output produced using that input.
: i : input

Calculate value of each raw material by output
multiplying annual consumption of each raw | If Input-output ratio is more than 100% then
material by its unit price - theres ma?%aof‘r_urjng loss élng unicavour-a-blla if it
Calculate total value of all raw materials e neic e o) 1D begarden ds (dvoledule
Sl : Material cost for 1 unit of output = Input - Output

Calculate % of value of each raw material in Ratio x Purchase price of RM "
reia_rion 1,0 1,01,01 va,ug of a” raw ma’!’el"fﬂ’S. = o i e e e T e T b o e P e

Assign ranking to above calculated % i.e. Rank 1 Inventory turnover ratio for FG (ITR for FG)

to highest %, Rank 2 to second highest % and so 1. Inventory turnover ratio for finished goods =
on. Cost of sales

L : ° __Average inventory of finshed g.oods; %eZ
Classify items having nearly 70% value under 2. Averaoe inven‘rorl;y S ERih e e
G+closing

category A, 20% value under category B and Opening stock of stock of FG

10% value under category C. o
e 3. Avg. stock of finished goods =

365 days or 12 months i

inventory turnover ratio of F&
=2 TOCK-OUT SITUATION Low ITRyz high holding period= high holding cost =

When a supplier could not supply ordered units of F& unfavourable
then such asituation is called Stock out situation. High ITR = low holding period = low holding cost =
Stock-out ratio (Finished Goods) = favourable
units for which order got cancelled Stock out cost = stock out units x Stock out cost per
total units for which orders received in whole year unit x probability (%).
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4. Job and Batch Costing

JOB AND BATCH COSTING

JOB AND BATCH COSTING

Economic Batch Quantity (EBQ) (Srmular as Economic order quam‘a‘ry)

EBQ refers to the optimum quantity batch at which Set up & Processing Costs and Carrying Costs are together
minimised.

| 2xAnnual Demand x Set up cost per batch
E-.B'.Q = EE R i Rl o : i ;
cost of carrying per unit of production per annum




Particular

Actual Units to be produced 3

-Time Based wages (A)
-Piece Rate Method (B) 80
(@ X 2 p.u) (40 x 2)

Piece rate with guarantee time 100
base Wages (higher of A & B)

Total earning under Time Based Wage System.

=Number of hours workad x Wage Rate per hour

| AKASH AGARWAL CLASSES LABOUR CONT: 8007777042/043



1] Halsey Scheme/Plan :
Total Wages = Hours
worked x Wage rate per
hour + Hours saved x Wage |

rate per hour x 50%

2] Rowan Scheme / Plan :

Hours worked * wage rate
per hour + Hours saved *
wage rate per hour *
Time taken

time allowed

3] Emerson scheme /p_lan :
(Time Based Wages)

Total Wages = Time based
wages + Bonus% as
specific % of Time based
Wages

4]Taylor's Differential
: p{ece rate mz‘thad

5] Merrick piece rate
(Mother scheme)

Total wages = Actual

rate

output x Differential piece

61 Bedentne Scheme:

Total wages = Time
worked x wage r'afe +
Time saved x v
rate x 75%

7] Grantt Task Scheme:

8] Barth Scheme:
Total wages =

|/Std time x Actual time x wage rate

9] Halsey Weir Plan:
Total wages = Time

- worked x Wage rate +

Time saved x Wage
rate x 30%

Contribution p.u =
Selling price pu -
Variable cost p. u

LABOUR
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Taylor's Differential piece rate

1S o % L OF Jele

Efficiency(%) . Lessthan 100% 80% of Normal piece rafe
ARIDIgT s | | T Benalpeof ety IO
More the 66.66 Bonus % shall vary from 0.01 % 100% or more  120% of normal piece rate
%o to 20 % (This information will (Reward -20%)
but upto 100% be Given in the question) :
More the 100 %  20% + 1% extra for each 1% Merrick piece rate

Extra efficiency above 100%

Grantt Task Scheme: LOE R L -
‘Less than 83% - 100% of normal
B e | More than 83 % but 110% of normal
Less than Time based wages upto 100%

100% Above 100% 120% of normal

Equal to 100% 120% of Time based

wages 130% of normal

LABOUR CONT: 8007777042/043
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More than Actual o/p

100% piece rate

Norm_dl' Idle Time:- Like

-—LConfr"oI Ratios ]
Std hrs for Actual output %
Budgeted hrs for budgeted output

+ Activity Ratio = 100

Actual hours worked for actual output 4
Budgeted hrs for budgeted output

* Capacity Ratio =

Std .hours for actual output
Actual hours worked for actual output

- Efficiency Ratio =

100

* 100

lunch time, small 10 minutes
beak etfc.:- Cost of such
normal idle time is
absorbed into cost of
product.

| breakdown of machine,

| Charged as a loss in P&L ‘
A/C. Cost of abnormal time

is charged as loss to

costing P&L A/C.
* Overtime payment is chargetrroprouocy |
using inflated wage rate. J

* Overtime payment shall be charged to job
(Recovered from custom

L
When overtime working is always required due to shortage
of labour. (Workers are not available in market hence
_ overtime always needed by available workers)
© ' RS =
When worker has to work overtime since customer was
demanding production instantly.
g . ¢
- .
When sometimes company to work overtime to fulfill
production requirements.
b~

overhead. (Indirectly charged to products)

- Overtime payment is treated as production }

When company had to overti | ing
_stopped due to abnormal situations e.g. breakdown of

me since working during day [




. Labour‘ Turnover
'Rate (LTR) means

workers of




1. Old worker resigns from company if they get better opportunity (Called Resignation /
Retirement / Left).

2. Old workers are fired from company if they does not perform well (Called retrenchment
/ discharged).

3. New workers are recruited to fill in vacancy due to resignation/retrenchment (Called
Replacement). It is not due to expansion plan of company.

4. New workers are recruited as additional work force if company opened a new factory
(Called Fresh recruitment).

High LTR means high cost of replacement and training to workers hence company always
desires Low LTR

Separations (S) = Resignation + Retirement + left ++ retrenchment+ discharged

Replacement (R)= New workers are recruited to fill in vacancy due to
resignation/retrenchment. Replacement does not include those works who are engaged due
to expansion scheme.

Accession (A) = Replacement + Fresh recruitment

 AKASH AGARWAL CLASSES LABOUR CONT: 8007777042/043




6. Overheads

i

| Production |

ELEMENT OF COST
l \ Company |
E Departments

. ° T 7o Of Prime
r TET l overHeap (< | Production OH x40 Z(Ztgfcgl; O. cost

=G » Total OH N
Tot:al DLC ——*100
Total PC

Machine Hour' Rate
T' __ "-al il

I(ASH AGARWAL CLASSES OVERHEADS CONT:8007777042/043
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Common supervisor - Rs. 30000 p.m.
Production We will add salary of common supervisor into
Department products. It will be divided

on some "Logical Basis".

| Supervisory
| hours ratio

We will add salary of supervisor 1 in cost of Dividing OH among products in a logical ratio
product 1. It is fechnically called allocation of is Technically called apportionment of
overheads. Overhead.

| AKASH AGARWAL CLASSES OVERHEADS CONT:8007777042/043



Rent of
| factory

r

Buliding _ R (Based on um'rs)'-

NO. of lights
OR
Area of Departments

Case 1: But actual units
produced and sold = 9000 units.
Total Overhead recovered =
9000 units * Rs 100 = Rs
1960_-@-

CASE 2: Actual units
produced and sold = 12000
Units

Therefore, Total OH =
12000 units * 100
Recovered = Rs 1200000

F

| [ No. of machines if

| Depreciation | - value of machine is |
‘of Machines  not given. OR Value of |
e : machine

Under absorbed OH) [
Over Absorbed OH)

W

Power for
factory ' 7 - :
Machines Under/over absorbed OH
" should be charged to |
costing P&L as loss or

__profit,

- | _ " methods
e e to charge

s ) Under'/ever' absorbed OH |
should be charged to

WIP, FG & Units sold by: |

: AKASH AGARWAL CLASSES OVERHEADS CONT:8007777042/043



Supplementary Ratio =

500 equivalent unitsover absorption

\

NOTE 1: Under absorbed OH amount relating to

always be charged to as loss.

NOTE 2: While calculating actual Oh incurred we shall not
include:

1. Amount paid to worker as per count order
2. Previous year's and expected booked to current year.

3. Wages paid tfo strike period.

Q)bsolu‘re stores written off.

Total production(units) using equivalent units of WIP

inefficiency, defective planning or defective production shall

4

iR

Maximum Capacity (365 days x 8 hours in a day)
Less:- Hours spent on holidays, festivals, Sundays,
repair & maintenance

Practical capacity (In hours)

Less:- Set up time (If unproductive)

Effective machine hours

XX

XX
XX
XX

Note:- if set-up time is considered productive then it shall not be reduced.

AKASH AGARWAL CLASSES

OVERHEADS

Amount of production over hsnds
Machine hoors

Machine hour Rate =

All expenses related to operating of machine are divided into fixed/standing
charges and running/machine expenses. Comprehensive machine hour rate

Total machine hows

STATEMENT SHOWING THE COMPUTATION OF MACHINE HOUR RATE
Particulars Amount (Rs.)

A. Fixed/Standing Charges:

(a) Rent & Rates

(b Heating 4 lighting cost

(¢} Supervision cost

(d) Insurance cost

(e) Department & general overheads
(f) Sundry Shop Supplies

(g) Depreciation of factory - building
Total Fixed/Standing Charges

=Simple machine hour rate + direct wages per machine hour

B. Machine Expenses per hour:

(a) Depreciation

(b) Power consumed cost / Electricity
(c) Repair & Maintenance

(d) Lubricating oil & Consumable stores
() Other running expenses

C. Machine Hour Rate

CONT:8007777042/043
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Method 1 - Repeated /

continuous distribution :

- method:- Following steps shall |

be applied under this method

assummg 3 production deptt. As |

. P1, P2, P3 and 3 service deptt.
51, 52 and S3.

5.1 Original Cost of Si is
' distributed among P1, P2, P3, S2
and S3 in given %.
8.2 Original Cost of S2 Plus i
shared cost from 51 is f

dssTmbuTed among P1, P2, P3, S1, |
S3 in given %. "

S.3 Original cost of S3 plus
shared cost from S1 & S2 is
dlSTr‘lbLITGd among P1, P2, P3, 51
and S2 in given %.

5.4 Repeat the above step -1,
. step - 2 and then step -3 until
| cost of 51, 52 and S3 becomes
small figure. (Rs. 1 or Rs. 2).
' Now distribute this small figure
~ over P1, P2 and P3

AKASH AGARWAL CLASSES

Redistribution Of overheads

| Method 2 - Trial and error

method: -Following steps are

applied under this method assuming

3 production deptt. As P1, P2, P3

| and 3 service deptt. 81, 82 cmd 3.

S.1 Original Cost of Sl is
distributed among S2 and S3 in

reduced from St1)

5.2 Original Cost of S2 along with
| shared cost from St is distributed

among S1 & S3 in given %.(1:2) (No |
amount shall be reduced from $2) E including its share (%) in 52 & |

5.3 Original Cost of S3 along with
shared cost from S1 & 52 is
distributed among S1 & S2 in given
%.(1:2) (No amount shall be
reduced from 53)

5.4 Repeat the process of
distribution again beginning with S1
until the additional amount
becomes small amount (Rs.1 or Rs.2)

$.5 Now distribute the [100% -
Share of other Service Deptt. |

cost of 51, 52 and S3 among P1, P2
und P3 on{y once.

Method 3 - Simultaneous

| equation method: - Fo.llowi_ng
| steps are applied under this

given % (1:2) (No amount shall be | method assuming 3 production |

deptt. As P1, P2, P3 and 2
service deptt. Sl and S2.

5.1 Make?2 equation to show
the total cost of S1 & 52

51 respectively.

5.2 Solve these 2 equations
to find out the cost of 51 and
52.(Called Calculated Cost)

S.3 This calculated cost of S1
and 52 is then distributed
only once over production
deptt and service deptt. in

given 7.

. Method 4 - Step ladder method: - |
. following steps are applied under this |
' method assuming 3 production deptt.

. As P1,P2,P3 and 4 service deptt. S1,
52,53 & 54.

st provide services to P1, P2, P3, 52,
53 & 54,

| | 52 provide services o P1, P2,P3, S3 |
| S3 provides services o Pl P2, P3 cmd
: 54,
| 54 provides services to P1, P2 & P3. |
i 5.-1 Original Cost of Sl is distributed |
‘among PL, P2, P3, 52, 53 & S4.

5. 2 Original Cost of 52 along with
shared cost from S1 iSﬁiSTrﬁibuﬁéd
among PL, P2, P3, S3 & 54.

53 Orrgmal Cost of S3 along with

~ shared cost from S1 &
distributed among P1, |

S 4 Imgm&l Cost of S4 along with

OVERHEADS




1. Maximum / Rated
Capacity

2. Practical Capacity

‘3. Normal Capacity/
Average Capacity

4. Actual Capacity

Quesﬂon per day] & Produchon Hours e, g 1“ hour's per day [S‘tudy 10 hour's pe.r

day]

It refers to the maximum posscble pr‘oduc’rzon capacity of a fac*rory which can never be
“achieved practically and it is only a theoretical capacity.
Example A factory can work 8 hours per day.

'Here, Maximum capacity = 365 days x 8 = 2,920 hours

refers to the maximum capacity of a factory reduced by capacity lost due to Normal
repairs& maintenance, Sundays, Holidays etc. Thus, Practical capacity = Maximum
capacity - Normal loss of capacity

Example A factory can work 8 hours per day during a six day week and remains closed for
18 holidays (exclusive of Sundays) during a year. Average idle hours per month is 20 for

' cleaning and maintenance.

It refers o average of capacity utilised of factory during one full business cycle which
“may extend over 3 to 5 years ignoring the abnormal year of highest and lowest utilisation.
Example Actual Capacity during the last 5 years was: T 30,000 IT 38,000, IIT 31,000 IV
130,800, V 26,900.

Here year IT being two high and Year V being too low are to be ignhored.
Hence, Normal Capacity = Average of (30,000 + 31,000 + 30,800) = 30,600 hours.

It refers to the capacity actually utilised during a given period,

AKASH AGARWAL CLASSES OVERHEADS CONT 8007777042/043
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7. Standard Costing _  e Varmnce

AC Cost > | AC.Cost< | AC.Sales> |
2 Std. Cost - | Std. Cost - | Std. Sales
Adverse | favorable | - favorable |

Budgeted O/P in Bud. I/P for Actual
actual I/P = O/P = =Actual O/P x
"Total actual I/P" Budgeted I/P for 1
"Bud I/P for I unit of O/pP"  unit of output

DM Cost Variance J

DM Usage Variance DM Price
Variance

: |
' DM Usage Variance ’ l L) 'Pr'lce
Variance

mmm

DM ‘/’Ield Var‘lance | '=| DM Mlx Varlance |

; AKASH AGARWAL CLASSES STANDARD COSTING CONT 8007777042/043




Particulars SP x SQAO SP x RSQ  SP x AQ

Material A

Material B

MPV = (SP-AP) x Actual

DM Usage DM Price
Vﬁrlance Variance = Variance =

_ sQAQ = = Actual
~ O/P x Budgeted
| I/P for one unit of

}}LAKASH AGARWAL CLASSES STANDARD COSTING CONT:8007777042/043



Direct Labour Variances are calculated in 2 cases

1

Cost Variance

Case 1: ] Case 2: When | ; £gi I Direct Labour Rate ‘
. workers do not sit | | workers have to sit | Direct Labof'lr' Efficiency Variance
Idle &3 idle | Variance

Direct Labour ]
Mix Variance

CASE 1 : Dir'e -bo }

b= St s
i 3

Direct Labour || Direct Labour
Yeild Variance , Mix Variance

S ikl G | e

E:—C','ASE 2 - Direct Labaurjj
a Cost Variance J

i.e without "abnormal" i.e. with "abnormal"
idle time idle time

|
|

|
/

Direct Labour Abnormal Idle time Direct Labo.ur'l Rate
Efficiency Variance variance Variance

)
Direct Direct | Direct
Labour ¥ ihour mix | Labour Mix |
1

‘/glld | Variance Variance
Variance || -
1

- AKASH AGARWAL CLASSES STANDARD COSTING CONT:8007777042/043



Particulars
Skilled

Semi -skilled
Unskilled
Total

CASE 1 - Dire

SR x SHAO
XXX
XXX
XXX
XXX

L1

|

SR x RSH
XXX
XXX
XXX
XXX
L2

]

ct Labour Cost Variance

SR x AH
XXX
XXX
XXX
XXX

L3

DL Efficiency

Variance =
L1-E3

DL Rate
Variance =
L3-L4

SE STANDARD COSTING

e e

CONT:8007777042/043




Particulars SR x SHAO SR x RSH SR x AHW SR x AH AR X AH

Skilled XXX XXX XXX XXX XXX

Semi -skilled XXX XXX XXX XXX XXX

Unskilled XXX XXX XXX XXX XXX

Total XXX XXX XXX XXX XXX
L1 L2 L3 L4 LS

| | Lab. Efficiency .ﬁ I
& Ratio= 5 i .

| |'Std.hours for actual O/
L Actual Hours )i

_ - T [ e—— BL 7b.Tde 7| [ T T
[ Std. lab cost = ] A Ly time Varianee= | B S nai= | = DL Vield DL Mix
Total std lab hours

e
Ll

lTa’ralum‘rs produced J tees S | L LS | aweysady) | B -tz ) L2-L3

| (Actual lab cost




Particular
Working Day
Hours

Actual

Expected hours in Actual
Days = Actual Days x S’rd-.. '
hrsint day ;

Expected ou‘f‘pu’h‘ in Actual
Days {PoSsabl Qquui‘)‘ '

Budgeted
hours=30000 ,
Actual hours =
33000

Actual O/P =32500

Budgeted O/P
=24000 hrs ,

hrs

Budgeted OH p.u =
Bud OH _ 45000 _

Bud O/P - 24000 ~
1.875 p.unit

Budgeted OH per hour
ud OH 45000 _

i Bud Hours ~ 30000 ~

.50 per hour

Actual OH per hour =
Actual OH _ 50000 _

Actual Hour ~ 33000 ~
1.5151 per hour

Expected O/P in
Actual hrs =
Actual hours
[Bud I/Pfor 1 unit of O/P g

| AKASH AGARWAL CLASSES

STANDARD COSTING

CONT:8007777042/043



1. Output absorbed OH Actual O/P x Bud. OH p.u Std. hrs for actual x Bud. OH p.u
=32000 units x 1.875p.u = 40625 hr xRs. 1.5
= X60937.5 = X 60937.5
2. Input absorbed OH Actual hr x Bud. OH per hr Expected O/P in Actual hrs x Bud OH p.unit
= 33000hrs x Rs 1.5 = 26400 units x 1.875
= X 49500 = ¥ 49500
3. Possible OH = Possible OP x Bud OH p. = Possible hrs x Bud OH p.hr
= 24960 x 1.875 = 31200x 1.5
= X 46800 =X 46800
4. Bud OH = Bud o/p x Bud OH p.u. = Bud hrs x bud OH per hr
(Normally given in question) = 24000 units x 1.875 = 30000 hr x 1.5
= 45000 = 45000
5. Actual OH Actual G/P x Actual OH p.u. Actual Hrs x Actual OH per hr
(Normally given in question) = 32500 units x 1.5846 = 33000 hrs x 1.515151
= X 50000 = ¥ 50000

e

V.OH Cost
Variance

' V.OH Effeciency
Var

| {[ V. OH Exp Var

AKASH AGARWAL CLASSES




iI CASE1-F.OH
Cost \{uriance | |
Variance ¢ Budget Var.

V.OH Cost Var
=VO1-VO3

AKASH AGARWAL CLASSES STANDARD COSTING CONT:8007777042/043



Particulars O/p Absorbed  I/p Absorbed Possible Budgeted Actual
F1 XX XX XX XX
F2 XX XX XX XX
Total FO3 FO4

FOH Cost Var. | |F.OH Vol. Var.=| | FOH Exp. Var.
=FO1=F0b FO1-FO4 =FO4-FOb5

are given in Ques.

'F.OH Eff. Var.| | FOH Cap. Var. | | F.OH calendar
2P0 ED 2 =FO2-FO3 | [Var=FO3 - FO4

when budgeted Days & Actual Days

CASE 2 Calculation of F.OH Variance

AKASH AGARWAL CLASSES STANDARD COSTING CONT:8007777042/043




F.OH Vol. Var | | F.OH Exp. Var
- POl RGOS | [ = FO3 - FO4

E 1 Calculation of F.OH Variance
hen budgeted Days & Actual Days
~_are not given in Ques

LAKASH AGARWAL CLASSES  STANDARD COSTING  CONT:8007777042/043




-

M Sales Vol. Var. fSales Price Var.

L Sales W Sales Mix |
{ || Qnty. Var. ‘ i"_ Var. J

' Profit
| Value Var.

| - Sales price Sales Vol. Var.
-S1 || Var =54 -53 253 . 51

| Profit .| Profit Mix g oA Ty
U Varqw OVar | | Var=5S2-51

AKASH AGARWAL CLASSES STANDARD COSTING CONT: 8007777042/043




lars [B. Profit p.u [B. Profit p.u |B. Profit p.u |A. Profit p.u Overheads Expenses
|xBud. Qnty [xRSQ  |x AQsold |X AQ sold

XXX XXX

XXX XXX

XXX

Variance

Formula = Budgeted OH -
Actual OH

Budgeted OH = Budgeted
F.OH + Budgeted V.OH

Profit price Profit Vol. || ProfitMix || Profit Qty
Var = P4 -P3 | | Var. = S3 - Sl Var = 52 - 51

~ Reconciliation of Std cost & Actual Cost -
Production Volume Var Barticilar P
Formula - Unutilised capacity x Bud. F.OH P.U Actual Cost
Cost -Adv. var.
Cost - Fav. Var.
Std Cost

Unutilised Cap. = Actual Cap - budgeted Cap (units)

| AKASH AGARWAL CLASSES ~ STANDARD COSTING CONT:8007777042/043




8. Reconciliation Of Profit

Costing ]7

Financial

Cost Sheet J

TRADING &
|_P/L Accoun’r

it Different basis of Overheads

In Costing ~ Overheads absorbed
are shown,

In Trading - Actual Overheads
incurred are shown

Closing stock valuation
In Costing - Cl. Shock at cost

In Trading - Cost or Market
Price whichever is lower

[ Reasons of ]
Difference J

Depreciation on machine
In Costing - based on life of
machine or machine hours
In Trading - SLM Or WDV

&

59me Fmancml- Ifems oniy in

AKASH AGARWAL CLASSES RECONCILIATION OF PROFIT

Cr.- All

T

Incomes.sales

Expenses

[ Opening- Dr |

- Memorandum
_Reconciliation

lFAII Plus Column Items -
---- Credit Side of
MRA
LY

f Ny

Minus Column Items --
-- Debit Side of MRA

L J

LY

é N
Difference shall be
profit / loss as per
financial records.

A

CONT:

8007777042/043




| : ormat to Make Reconciliation
Particulars Plus Items Minus Items
Profit / Loss as per cost Records
Add: - Ttems demanding addition should
be added here in plus items heading
Less:- Items demanding deletion should
be deducted here in minus items heading
Total (Make Total of both the columns i.e.
"Plus items and Minus Items)
Profit/Loss as per financial records
(Rs. XXX - Rs. XXX) = Rs. XXX

S0 M L

Amount (RS) | Implication (Other Items Assumed Constant)

An Exp. Charged in Cost 30,000 Profit as per costing will be less by Rs.10000

Same Exp. Charged in Trading 20,000 Profit as per financial will be more by Rs.10000
Difference 10,000
Treatment

- If we use costing profit as starting point then we need to Add Rs.10000

- If we use trading profit as starting point then we need to Reduce Rs.10000

AKASH AGARWAL CLASSES RECONCILIATION OF PROFIT  CONT:8007777042/043



__Revenue Side R R T
Amount (RS) | Implication (Other Items Assumed Constant)
An Revenue Item in Cost Zero Profit as per costing will be less by Rs.20,000
Same Revenue Item in Financial. 20,000 Profit as per financial will be more by Rs.20,000
Difference 20,000

Treatment
- If we use costing profit as starting point then we need to Add Rs.20000
- If we use trading profit as starting point then we need to Reduce Rs.20000

DCP approach

Rule 1: Always take profit or loss of Rule 2: Always check all items (debit

point of view. (SITGT FgT WX 2)

I _ |
Debit Items : . Credit Items

Excess in Cost Records(+) Excess in Cost Records (-)

Excess in finance records (-)  Excess in finance records (+)

] AKASH AGARWAL CLASSES RECONCILIATION OF PROFIT  CONT:8007777042/043



9. Joint Products And By-Products

How to apportion total processing cost among different joint preducts arising out of 1 process?
Joint products means when 2 or more products of almost equal importance are produced simultaneously using
same raw material in same process e.g. Qil refining industry, joint products are kerosene and petrol etc.

Physical unit method:-

Sale value at separation
point method:-

Net realizable value
(NRV) method

- AKASH AGARWAL CLASSES JOINT PRODUCTS AND BY-PRODUCTS CONT:8007777042/043




Average unit cost
method

Contribution margin
method

§l Constant qross margin % NRV method (Ex’rensaon of NRV method)= Joint cost of Joint producTs is calculated as bal fig

ST. OF JOINT COST APPORTIONMENT

Particulars Product A Product B
Sale value after further processing

(No. of units manufactured x Selling price)
Less further processing cost

Less Gross Margin (Sales x 6. Margin Ratio)
Joint cost apportioned

AI(ASH AGARWAL CLASSES J' OINT PRODUCTS AND BY-PRODUCTS CONT 8007777042/043




Format to Calculate Overall Gross Margin %

Sale value after -f’ur’rhep%.r-ocessfi ng of all joint products
Less joint cost and Further processing costs of all joint products
Gross Margin / Profit

Gross Margin (%) =

gross margin
total sales value

100

Note:-Joint cost calculated under this method may be negative sometimes since balancing figure.
Note:- Joint cost calculated among all methods need not to be same.

Decision as to go for further processing or noft.

' AKASH AGARWAL CLASSES JOINT PRODUCTS AND BY-PRODUCTS CONT:8007777042/043
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CMA

INTERMEDIATE ...

JAN 2023 GROUP 1

dssssenss

BE YOU!
SUCCESS MARKS WITH AAC
FINANCIAL ACCOUNT
|\ Trishir 83 G.sampath 69
Siddhi 80 Pramanik 69
Anamika 79 Aditi 68
Shweta 78 Vinita 68
' Venkatesh 78 Jeni 67
 Sejal 7 Ankush 66
- Kanan 76 Diksha 66
| Asmita 75 Narasimha 66
' Yash 74 Jaym 66
- Anahu 73 Kavya 66
. Himali 73 Aamir 64
| Subramanyam 72 Harsh 64
Ayush 71 Harnish 63
| Gaurav 71 Romana 62
| Shahid 69 Lohith 62
AND MANY MORE

|| SRS

CMA

INTERMEDIATE ... ca

JAN 2023 GROUP 1

BE YOU!
SUCCESS MARKS WITH AAC

| COST ACCOUNTING
| Asmita 72 Shriya 56
| Kanan 71 Siddharth 56
| Aamir 69 Shahil 56
| Aditya 68 Shravani 56
i' Anamika 66 Seema 56
| Priyansh 64 Shweta 56
| Kanishk 63 Anahu 56
Shubbhangi 60 Dhara 56
| Tanvi 60 Hrishikesh 56
 Ayush 59 Himali 56
 Aditi 58 Divya 56
| Yogitha 58 Geet 56
| Ankush 57 Divya 56
| Shahid 56 Harsh 56

56 R. C. Deepak 56

. Siddhi

AND MANY MORE.........




CMA CMA
INTERMEDIATE ... INTERMEDIATE .....

JAN 2023 GROUP 1 BE YOU! JAN 2023 GROUP 1 BE YOU!
SUCCESS MARKS WITH AAC SUCCESS MARKS WITH AAC
DIRECT TAX LAW&ETHICS
| Venkatesh 82 Trishir 65 | - Chitra 76 Divya 60
Ayush 81 Asmita 64 Shriya 75 Romana 60
| Jaym 77 Priyansh 64 _ . Trishir 70 Amrit 58
| R.C.Deepak 75 Siddhi 63 | Varsha 69 Arghya 58
Megha 72 Hrishikesh 63 - Nadeem 66 R. C. Deepak 58
Yash 72 Yash 63 | | Shahil 65 P.Pocjitha 58
| Kanishk 72 Shriya 62 | | Hrithik 65 Sneha 58
Shahid 4l Jeni 62 ' - Jaym 65 Priyansh 57
' Bhavya 71 Siddharth 61 | Ayush 64 Siya 57
. Harsh 70 Harnish 61 | | Venkatesh 63 Sejal 56
| Aditi 69 Abhishek 60 | Tanishka 63 Siddharth 56
Kanan 68 Diksha 60 | Shahid 62 Anahu 56
| Tanvi 67 Diksha 60 Bogi 62 Aditya 56
Hrithik 66 Praveen 60 Kanishk 62 Diksha 56
' Anahu 65 Md Nesab 60 | Aditi 60 Piyush 56

AND MANY MORE......... | AND MANY MORE.........




Control Ratio

DIFFERENT BUDGETS
- Sales target (In units & In Amount)
- Actual Sales compared with Budgeted
- Analyse Sales Variances
Production Budget
- Units to be produced

- Budgeted production = budgefed Sales + closing
stock of finished goods - opening stock of
finished goods

_std.hours for actual output obtained - Raw material to be purchased = budgeted
actual hours worked . _ production x raw material requirement per unit

b i e e e e
-

.

- Cost which should have been incurred for the
budgeted production level.

-Budgeted production cost is compared with
actual production cost

- Analyse variance

i AKASH AGARWAL CLASSES BUDGETARY CONTROL CONT: 8007777042/043 ]




Difference in total semi-variable cost
Difference in units

Variable portion in semi-variable cost

AKASH AGARWAL CLASSES BUDGETARY CONTROL CONT: 8007777042/043
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CONTRIBUTION

o _lir!.;'!._:,‘I'.L..).i.:l_i.“_} o } er Unit = Collinag nrire he

...[;.-. i .-!J:"." 0| |: i >
pepesttid] o N S ¥ T by _;";E_ vy
el I,h:!’in-‘. 3i- Contriot

Formula 4.

BEP Sales means "No Loss Sales” OR
“Survival Sales”

BEP (In units) = e

AKASH AGARWAL CLASSES

P / v ratio = [1xed ¢

At BEP, Profit = Zero & Sales means BEP Sales P/V Ratio =

Z0ST T 100

SR EVETL SUies

|| Calculating P/V Ratio when profit and sales volume of 2 periods are given

Rt =

MA RGINAL COSTING CONT 8007777042/ 043




Margin of safety sales

Sales generating profit
- MOS sales means excess of actual sales
over break-even point sales
profit
contribution per unit
profit
pv ratio

MQOS Sales units =

MOS Sales in Rs. =

Break Even Sales Ratio and MOS Sales Ratio

_Break Even Sales ratio + MOS Sales Ratio = 100%

Variable cost to sales ratio

variable cost

variable cost to sales ratio =
sales

x100

If variable cost to sales ratio is 60% then
it means that if sales is made for Rs. 100
the variable cost of Rs. 60 is incurred

AKASH AGARWAL CLASSES

Relation between PV Ratio & Variable Cost to Sales Ratio

Relation between PV Ratio & Variable Cost to Sales
Ratio

P/V Ratio + variable cost to sales ratio = 100%

MARGINAL COSTING

Required sales level fo earn desired profit

Desired level of Sales (In units) =

fixed cost + profit
—o =2 PO (Sum of BEP Sales and MOS
contribution per unit

Sales Formula)

~ fixed cost + profit
p/v ratio
(Sum of BEP Sales and MOS Sales Formula)

Desired level of Sales (InRs.) =

CONT: 8007777042/043
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Merger of 2 departments or companies

If management of 2 or more companies decides to merge companies which
| are operating at same or different capacity level then Merged company
' desires to know following things:-

' 1.P/V Ratio /2. BEP in rupees/ 3. Capacity utilization at BEP /4. Desired

Sales / 5. Desired Profit / 6. Desired capacity utilization of merged plant

. Stepl :- Make marginal cost equation of all companies at 100% capacity level

| P/V Ratio of merged co. =

Step? - Add all figures to calculate Sales, Variable Costs, Fixed Costs and

Contribution of merged company.

| Note :- Fixed cost shall include additional fixed cost involved in merger, if

any

Total eontribution of all co.at 100% capacity <100
Total sales of ali co.at 100% capacity

R BEP in rupees of merged co.
- Total Fixed cost of all co. +Addmona FC of merger if any X100

PV Ratio of merged co.

Capacity utilization at BEP of merged co.

BEP of merged co

 Total sales of merged co.af 100 % capaa‘ry

 Desired sales to earn given profit =
¥ x100 |
- Capacity utilization at desired sales =

Fixed cost of merged co.+desired profit
PV Ratio of merged co.

desired sales

Total sales of merged co.at 100% capacity

Cash BEP
Minimum level of sales at which company
is able to recover out fixed cost incurred
in cash.

Cash Fixed cost
Cash BEP in units = el e

con’rribuﬁon er unt
cash Fixed cost

. Cash BEP in rupees = e

P
| Cash fixed cost = Total FC - Non-FC
- Non-cash FC are those which do not
 involve cash outflow e.g. depreciation

Shut down Point

| Decision as to whether Produce or

_ discontinue loss making product
FC is divided in 2 category :-
Unavoidable FC :- FC which has to be
incurred whether or not item is

- produced.

. Avoidable FC :- FC which can be avoided

' by stopping production.

; ; _ Avoidable Fixed Cost
SDF Sales (units) = contribution per unit

f Aviodable FC
| SDP Sales (Rs) = ottt

Avoidable FC = Total FC - Unavoidable FC

[

AKASH AGARWAL CLASSES

MARGINAL COSTING

CONT: 8007777042/043 l
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Income statement under Marginal costing approach  Income statement under Absorption costing approach

Particulars Particulars - Amount
| (Rs)

Variable (Direct Material Cost)
Variable (Direct Labour Cost) ) Variable (Direct Labour Cost)

Variable (Direct Expenses) ’ Variable (Direct Expenses)

Variable Factory OH XX Variable Factory OH

Variable manufacturing cost of Quantity __ Fixed Factory OH absorbed units produced x standard

oeeheed St
Add:- Opening FG otal manufacturing cost of Quantity Produce

Add:- Openi

Les.f::- Closing FG : | - XX L::S_:_ CEZ?nZgFZG

Variable manufacturing cost of Quantity Sold Total manufacturing cost of Quantity Sold

Add:- Variable Office & Admin OH ' Add:- Variable Office & Admin OH

Add:- Variable Selling & Distribution OH - Fixed Office and Admin OH

Variable Cost of Sales (A) : Variable Selling & Distribution OH

Sales (B) Fixed Selling & Distribution OH

Contribution (B - A) Add:- Under absorbed OH (Actual OH incurred - OH

Less:- Fixed Factory OH absorbed)
Fixed Office and Admin OH - Less:- Over absorbed OH (OH absorbed - Actual OH

Fixed Selling & Distribution OH incurred)

Profit Total Cost of Sales (A)
Sales (B)

Profit (B -~ A)

 AKASH AGARWAL CLASSES MARGINAL COSTING CONT: 8007777042/043
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VGJUE _ Gf Value of work certified:- It is expreSSed asa % of

the contract price. Example:- If contract priceisRs, | ———————— B i ST TR

Wﬂl"k : 10 Lakh & work certified is 60% then value of work (2051 of work uncer_‘r:f:gd. -_.To'ral cost incurred till

SR certified shall be 6 lakh (confmc‘r price x work date - Cost of work certified

certified certifiedas %) S | | Total Work Done (Total Cost incurred)

- S : —— | Work certified (Cost | Work uncertified (Cost

*It is that portion of value of work certified whach has incurred) incurred)

not been paid by contractee and kept as security : - :

3 : money for future defective work. Add:- Profit Add:- Nothing

Retention _4 ‘Retention money = Value of work certified - Cash = Value of work = Cost of work uncertified
mone. received by contractor certified

*Example:- suppose in above example, if Rs. 5 Lakh has _
been pcud by contractee to contractor fhen rz-renfjon The Who!e amount Of hotional 'DSS Qﬂd GnﬁCipGTBd IOSS
money shall be 1 lakh. shall be recognized as loss & TF to costing P&L A/c.

Estimated __ 0 Excess of estimated
' S : ey total loss over and

TOTG-I Profit =| el above notional loss is
e _ called anticipated

Treatment of | loss.

Total Contract Cost of Contract no'l'i-..o_.nai loss and
Price - Estimated upto date + Costs estimated total

Total Cost 1o be incurred loss

AKASH AGARWAL CLASSES CONTRACT COSTING CONT:8007777042/043




Escalation clause does not cover increase in cost caused due to
inefficiency or wrong estimation on part of contractor.

il il
Escalation clause:- Under this clause of a For material: -
contract, rise in price of material and labour chdndard quanTiT i
beyond standard price fixed is paid by (At '-|'- Brio. 51}'{d
contractee as extra amount along with - (Actudl | rlce Tl
contract price. Price)

Reversely, de-escalation clause, contract price is reduced by
downward trend in price of materials and rates of labour etc.

AI(ASH AGARWAL CLASSES CONTRACT COSTING CONT 8007777042/043



Material issued from stores to contract Account Contract A/c (Contract Number) Dr.
| _ _ To Stores ledger control Account
' Material Purchased directly from supplier & used in Contract A/c (Contract Number) Dr.
' contract Account : - | To General Ledger control Account
‘ Material Returned to stores | Store ledger Control Account Dr.
| _ | To Contract Account

Material Returned to supplier 'General Ledger Control A/c Dr.

_ | | @ To Contract Account

'Employee Labour Cost Contract A/c Dr.
Direct Expenses of contract Contract A/c Dr.
oo ____ S o | To Direct Expenses Account
‘Indirect Expenses of confract Contract A/c Dr.
| g AT AR e To Overhead Account

Depreciation on Plant & Machinery Contract A/c Dr.
To Dep. OnP&M A/c

AKASH AGARWAL CLASSES ~ CONTRACT COSTING  CONT:8007777042/043



~ Contract

Particulars
To Materials Issued to site

To Wages incurred (Paid + O/s - Prepaid)

To Direct Expenses (Paid + O/s - Prepaid)

To Depreciation on Plant & Equipments

To Office & Adm. Exp. Incurred (Paid + O/s -
Prepaid)

To Works Cost
To Costing Profit & Lass A/c

Particulars

By Materials at site (Closing Stock)

By Materials returned from site i.e. returned
to stores

By Bank A/c (Sale of Materials)
By Costing P&L A/c (Loss on sale)

By Cost of Contract (Works Cost) (B.F)

— Value of Work certified (Like Sale)
— Cost of Work Uncertified (Like closing
stock)




icular's
To Materials Issued to site
To Wages incurred (Paid + O/s - Prepaid)

To Direct Expenses (Paid + O/s - Prepaid)

To Depreciation on Plant & Equipments

To Office & Adm. Exp. Incurred (Paid + O/s -
Prepaid)

To Costing Profit & Loss A/c

Particulars

‘To Work-in- progress b/d

Value of Work Certified

Cos’r of Work Uncertified ....

Remamlng Portion same as m pr'ewous format

Particulars

By Materials at site (Closing Stock)

By Materials returned from site i.e. returned
to stores

By Bank A/c (Sale of Materials)

By Costing P&L A/c (Loss on sale)

By Value of Work certified (Like Sale)

By Cost of Work Uncertified (Like closing
stock)

Particulars

Note: Fines & Penalties are not shown in ’rhe. Con‘rch Account.

I AkAsH AGARWAL cLASSES

CONTRACT COSTING
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Liabilities

Capital

Profit & Loss A/c
Outstanding Expenses
Contractee Cr. Balance

Assets

~ Land & Building (Less: Depreciation)
Plant & Equipment (Less: Depreciation):
Materials: —
At Stores .
At Site
- Work-in-progress:

Value of work certified

Cost of work uncertified XX)(
' Cash & Bank Balance

Prepaid Expenses




CMA

(TN INTERMEDIATE

JANZ3GROUP2 © INTERMEDIATE .. o
9
STUDENTS ACHEIVING EXEMPTIONS ! LB b BE YOU!
. SUCCESS MARKS WITH AAC

COMPANY ACCOUNT AND AUDIT
;Eggg( JEE:% Eg | Chandani 74 Narayan 58
SHIVANI DEEPAM 71 o E
HETANSEE BISWARANJAN E}’ fhapEn 7 Mpaa >
Fslgl-illlll-l_ ?I:F:IESH g; Trishir 68 Varun 58
MADHAV GAURAV 65 | Ruchi 67 Aamir 57
e R 6o | Anubhav 65 Tanishka 57
%l::’[élil.'lm vAAsI-II_IAK gil - Hetansee 64 Sonu 57
SONU SURAJ 64 Pravallika G Biswaranjan 56
Eﬁ‘s’gﬁ gﬁﬁﬁ‘ﬂn gg | S Barma 62 Prasant 56

KAJAL NEHA 63 | oo ,

ANUBHAV SUCHISMITA 63 | s o Fitoi i
INAZIR JYOTIKA %i | Pratik 60 Syed 56
| AL s | Rahul 60 Shahil 55
[llﬁ Stﬂﬂ llﬂ[:HlH I]l]ﬂ@m | Siddhi % Mirza s
- Baishnavi 58 Shreya 54
...AND MANY MORE Hemlata 58 Shahid 54
| Prashanth 58 Shubh 54

AND MANY MORE...




CMA CMA
INTERMEDIATE ,..c.x. = INTERMEDIATE .. cun

JAN 2023 GROUP 2 BE YOU! JAN 2023 GROUP 2 BE YOU!
SUCCESS MARKS WITH AAC SUCCESS MARKS WITH AAC
| COSTING AND FM | INDIRECT TAX
. Kavita 57 Sahil 56 Sahil 69 Pratik 58
. Shivani 56 Munazir 56 Aditi 66 Tuba 57
Shahid 56 Neha 56 ' Deepam 65 Shahil 56
| Shreya 56 Md 56 Hetansee 65 Chandani 56
Shobha 56 Mahak 56 - Trishir 63 Bhagesh 56
| Shahil 56 Yash 56 Md yusuf 62 Suraj 56
| Siddhi 56 Trishir 56  Jeni 62 Jatin 55
' Sanyam 56 Karan 56 | Shreya 61 Neha 55
Amar 56 Meghana 56 . Sakshi 61 Kavita 55
Aamir 56 Biswaranjan 54 ' Vikram 61 Kshitiz 55
' Deepam 56 Prashanth 54 | Syed 61 Rahul 54
Baishnavi 56 Runnu 54 | Karan 61 Siddhi 53
Arjav 56 Mirza 54 | Shivani 59 Shubh 53
| Chandani 56 Narayan 54 . | Madhav 59 Sanyam 53

Hetansee 56 Hemlata 52 ' Shahid 58 Shrinivaasan 538 |
AND MANY MORE......... AND MANY MORE........




Process costing is applicable when 2 or more process are required in mfd a product. -
- We need it to calculate |
» All cost incurred in each process.

'+ Cost of FG transferred to next process.

'+ Cost of F6 .d'ir'egﬂy sold in market & held as stock

2 types of losses arise in process costing:-
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- To material input

Following A/cs_are prepared in process costing

UNITS

Process Account

AMOUNT

T

PARTICULARS UNITS  AMOUNT |

By normal loss A/c XX

= Scrap value

; To All E.X_Pg-nses incurred
3

By abnormal loss A/c XX

= Cost of good
units

| To Rectification cost of
' normal loss units

By N_ex:’rfpr'-ac_ess A/c (units TF | XX

‘o next process)

= aigces
units

' To Abnormal gain A/c

XX

= Cost of good
units

By finished goods A/c (units XX
held as stock + units sold in
mkt)

| = Cost of good
units

J To process A/c (TF from
; process A/c)

XXX

el A AR i g

~ UNITS

XX

XXX

XXX

| B o 0 0 S M i R o i A e U ' s )

Finished goods A/c / Finished stock A/c

AMOUNT
= Cost of good
| units

PARTICULARS
| = Sale value

By Sales

KAX

AMOUNT

Profit on sale

By balance €/d

| = Cost of good units

3 To P&L A/c

[ XXX

PROCESS COSTING

| xxx

CONT: 8007777042/043
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Normal loss A/c

AMOUNT PARTICULARS
To process A/c (TF from XX =scrap value By Bank A/c (Note 1) abnormal
process A/c) gain units
| By abnormal gain A/c _ XX

XXX

Il e __Abnormal loss A/c _
PARTICULARS UNITS AMOUNT PARTICULARS

To process A/c (TF from = cost of good By Bank A/c : =scrap value

process A/c) units

By P&L A/c = Bal. Fig.
XXX ) XXX

Abnormal
~ PARTICULARS UNITS AMOUNT PARTICULARS AMOUNT
To normal loss A/c (TF XX By process A/c (TF from = cost of good
from normal loss A/c) process A/c) units
To P&L A/c

XXX

I AkAsH AGARWAL cLASSES PROCESS COSTING  CONT: 8007777042/043



Opening stock

COST(A) |  PROFIT(B) TRANSFER PRICE (A+8)
XX XXX

Add:-

Direct Material cost

XXX - XXX

Direct Labour cost

XXX | XXX

Dierct Expenses

XXX XXX

Cost from previous process

XXX XXX

| Prime Cost

XXX (D) XXX : XXX (E)

Less closing stock

‘Net Balance

XXX (DXF/E) | XXX (Bl Fig) XXX (F)
XXX XXX XXX

' Add:- Factory Overhead

AXX XXX

Total Cost

XXX XXX XXX

Add:- costing PAL A/c (Profit)

o XXX

Grand Total

XXX XXX XXX

SOME SPECIAL POINTS

internal transfer of goods.

p-r'g.vi__o_us- process.

(c) Profit included in opening stock of process IT and

onwards is normally given in question. Hence we need not to calculate it.

(a) No Selling & distribution OH, Adm. OH Since itis | (d) Costing Profit and loss Account

a. Shall be credited by unrealized profit on opening stock.

(b) Opening & closing stock in process 1 shall not include | b. Shall be debited by unrealized profit on closing stock
any profit since it has not been fransferred fromany | c. Shall be credited by profit of process A/c & finished goods A/c. d.

Bal. Fig. shall be net profit / loss

CONT: 8007777042/043




nts as Example: Suppose 90 units are incomplete at end of year (Closing
follows:- _ WIP) & degree of completion is:
Statement 1: Prepare Statement of Equivalent Material 80%, Labour 70%, Overheads 30% then EPU of closing
Production WIP shall be
Stafement 2: Prepare Statement of Cost per EPU for material cost = 90 units x 80% = 72 units
Equivalent Unit | EPU for labour cost = 90 units x 70% = 63 units

Statement 3: Prepare Statement of Evaluation EDU for OF Cost = 90 unite x 307 = 27 (nits
St. of equivalent production Equivalent production Exilanction. '

units (EPU) = No. of units x degree (%) of : : S : _
completion performed in current period EPU is gﬂ;{;ﬂzgoﬁig 20 incomplete units = material cost of 72

calculated separately for each element of cost e.g. : Al o e : s
material, labour &OH because % of completion with | -abour cost of 90 incomplete units = labour cost of 63 completed

(e et elieiio el d'ffemm' OH cost of 90 incomplete units = overheads of 27 completed units.

CASE 1 - CASE 2 -
e L UNITS UNITS
Opening WIP ' Opening WIP now Completed
Units introduced in current Units introduced in current period and
year completed
Closing WIP 100
Normal loss 8% of current period input 80 80
Abnormal loss 20 (bal fig)
Abnormal gain 30 (bal fig)
Total 1200 1200

AKASH AGARWAL CLASSES



St. Of Cost Per Equivalent Production:
Material cost per equivalent unit, labour cost per equivalent unit

and overhead cost per' equivalent unit is calculated

St. of evaluation = No. of equwaien‘r ust X cos*l' per equivalent
unit,

Method 1 FIFO METHOD

FIFO means units transferred as 100% complete shall comprise all opening WIP and balance from units
introduced in current period. Units Transferred = Opening WIP + Units Infroduced and completed.

Total Cost of units Transferred to next process = Cost incurred in previous period on opening WIP + Cost incurred in
current period on Opening WIP + Cost incurred in current period on units intfroduced & completed




Material | Labour

Overheads

Opening XXX | Opening WIP

WIP completed

Units X | Units infroduced and
introduced completed [Units
Transferred - Op.
WIP] I
Closing WIP R O0C T
Normal loss XXX —

Abnormal Loss XXX (X XXX-10
Abnernial € | .
normal Gain (XXX) XXX-13

XXX

Total XXX

XXX XXX-16

*100% - Degree of Completion of Opening WIP in previous period

PROCESS COSTING CONT: 8007777042/043



uivalent unit

| Net Material cost (Rs)* | Labour Cost (Rs.) | Overheads (Rs.
XXX Lo A
_ o XXX-16 XXX-17 | XXX-18
Cost per equivalent unit (A/B) XXX-19 XXX-20 XXX-21
* Net Material Cost = Material Cost - Scrap Value of Normal Loss

Statement3 Statement of Evaluation:

Cost ' Equivalent ' Costper  Cost of | TotalRs. (A X B)
| Units A | Equivalent Eguivalent
| ~ UnitRs. B UnitsRs (A x B)

Particulars |
Elements

Vit \AITD
I"--"*-‘i.‘t'Hﬂ.f-J v L

Material
Labour
Qverhead
Material
Labour
Overhead

. AKASH AGARWAL CLASSES PROCESS COSTING CONT: 8007777042/043



Material

XXX-7

Labour

XXX-8

Overhead

XXX-9

Material

XXX-10

Labour

XXX-11

Overhead

XXX-12

Material

XXX-13

Labour

XXX-14

| Overhead

XXX-15

Process Account

Particulars

By Normal Loss

To Direct Material

By Abnormal Loss

To Direct Labour

By Process IT A/c
(Transfer to next process)

To Fac’r;r'y Overheads

By Closing WIP

To abnormal gain

| AKASH AGARWAL CLASSES
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& Method 2 - Weithed Average Method Average method is used when it is not possible to identify opening WIP
units in units transferred to next process . Average cost per equivalent unit is calculated =
Cost incuured in previous periad on Opening WIP+Cost Incur‘red in current period@-Scrap value of normai loss units
Total E uwaien’r Units

Total Cost of units Transferred to next process = Equivalent Units x Average Cost per

Statement 1 -> Statement of Equivalent Production:-

Output Material | Labour Overheads

: el L i
l b _| Completion _qn_'TS | Completion | Un_'fs | Compfe‘ﬂon

Units

Opening XXX Units

WIP transferred
to next
process

Uhits XX Closing WIP X | XX _ XXX-8
introduced

Normal loss XXX Zhag

Abnormal Loss | XXX XX (XX - XXX-11

Abnormal Gain | (XXX) | 100% (XXX)-13 | 1007 (XXX)-14

Total (XX XXX-16 XXX-17

KASH AGARWAL CLASSES PROCESS COSTING CONT 8007777042/043



Statement 2 Statement

Particulars Sl Net Material Cost Labour Cost Overhead cost

Particulars Elements |  Equivalent Cost per Cost of Total Rs.
UnitsA Equivalent Unit  Equivalent Units
Rs. B Rs ( A x B)
Material

Labour
Overhead
Material
Labour
Overhead
Material




To Opening WIP

Labour XXX-11

Qverhead AXX-12

Material |  XXX-13

Labour XXX-14

Overhead XXX-15

Process Account

Particulars
By Normal Loss

To Direct Material

By Abnormal Loss

To Direct Labour

By Process IT A/c

To Overheads

(Transfer to next process)
By Closing WIP

To abnormal gain

CONT: 8007777042/043




14. Integrated and non-integrated accounts

~ RAW _
MATERTAL/
STORES
S ]

* Store ledgercontrol
| a/c
)

articulars  Receiver  Giver  Enfry * Wages control A/C
Logic behind ThE :
Above Entries Credit the Giver

_ .+ WIP ledger control
On Transferring Factory Stores WIP Ledger Control A/c Dr Lo

Direct Raw To Stores Ledger
Material from Control A/c
store to Factory ]
On Transferring Warehouse FG Ledger control A/c Dr | |_
Finished Goods To WIP Ledger control A e

from factory to ! Alc | 4 i * Cost of sales A/C
Warehouse (Also {
Called Factory
Cost) _ ; b
On Transferring Warehouse | Cost of Sales A/c Dr | & - Factory cost
FG from To Finished Goods
Warehouse to Ledger control A/c

* FG ledger control

e

-

WAREHOUSE

| AKASH AGARWAL CLASSES INTEGRATED AND NON-INTEGRATED ACCOUNTS CONT: 8007777042/043




Showroom
(Also Called Cost
of goods Sold )

On transferring
Actual cost of
Sales to Costing
P&L A/c (Also
Called Cost of

Costing P&L A/c Dr
To Cost of Sales A/c

Sales)

' General Ledger Adjustment A/c

(GLA Al c) OR Cost Ledger' Con’rr'ol Alc OR Nommal Iedger con’rr'o! A/-:

GLA account shall be used in place of account not opened while preparing cost sheet

Treatment of under and over recovery of overheads
Option 1 of Treatment :- Carry Forword & Set Off Next Year
 No Accounting Entry is made for this

Option 2 of Treatment :-

- If management decides to charge the amount of under/over recovery of overheads in current year then
current year's under/over recovery shall be transferred to current year's profit & loss account.

Journal Entry for Under - Recover
Costing P&L A/c Dr.

Loss
XXX

To Factory OH / Admin OH / Selling & Dist. OH A/c = XXX
Just reverse entry for over-recovery.
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Material |

Material To
factory

g o

Stores ledger
Control A/c Dr.
To GLA A/c

Dr.
To Stores ledger Control
Alc
 (Wages incurred for
production)

WIP Ledger Control A/c

JOURNAL ENTRIES RELATING TO WAGES

;' Direct

Material

Indirect

i_r--(; . '.ag-e-s 'n-ro!
Wages to | A/c Dr.
factory To GLA A/c

dmin of fice

BMhg Office.

e

To Wages Control A/c
(Wages incurred for
production)

Indirect
material at
Factory /
Admin.

| Stores ledger

Control A/c Dr.
To GLA A/c

Factory OH Control A/c
Dr.

Office & Admin OH
Control A/c Dr.

Indirect
Wages at
Factory /
Admin

Wages Control
Alc Dr.
ToGLA A/c

Factory OH Control A/c
Dr.

Office & Admin OH
Control A/c Dr.

- AKASH AGARWAL CLASSES
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Qfflee /=" | Selling OH Control A/c Dr. Office / Selling OH Control A/c Dr |
Selling '_ _ To Stores ledger Control Selling 1 _ To Wages Control A/c
Office Alc Office

Journal Entries relating o direct expenses
| e _ Transaction Entry  Transfer Entry
 Direct Expenses for factory l  Direct Exp. Control A/c Dr. | | WIP Ledger Control A/c
. To6LA A/c | To Direct exp. control A/c

| Journal Entries relating to Owrrmdc
| Particulars | Transaction Entry Transfer Entry

! e _ - Overheads charged/Recovered
| Factory Overheads 'Factory OH Control A/C , ' Dr WIP Ledger Control A/C
To GLA A/C | To Factory OH Control A/C
Offrce & Admin overhead Office & Admin OH Control A/C Dr FG Ledger Control A/C
By o deelA AL _ To Admin OH Control A/C
| Sellling & Distribution Selling & Distribution OH control A/C  Dr Cost Of Sales A/C )
| L decladr | To Selling OH Control A/C
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